8.0 PoNnomid\ Arcapns

. 3
O ")p’r?»('? 6 -ﬁx-b)@(x—ZS%M\)@
. 1+3+it4=9
\ \m .
DeEe 5 ,lfi\-m"o ke Tegree’ 4 A :—290 o
odd N A
i WX (1 N -G A
@ x-x+3)® @ 2x¥32+2x-5
1+
peroes 4 i 00 [ Rato Daee: 4 (Bl (R0
NEN N oA eNen
yL-C 4% Mok
(8) PUO= x(x rl)()@—} OV e 4082 (S 2) @ ROO= )Y 2) (x2)
2e00s € 0,-2,2 2ex0S @ o,—2 2e08 0,7,1,~2, 2

odd , 7 Nen
e ¥ \'ﬂll “Le ‘| | T & E

(®) S *x(x2)y-2) @ T(x\ x’*’(x*r?—) V()= -x2(x+2)

2ze00s@ 0 ,-2.2 2&0$ 0 , -2

TOWCW wugg\e TovCh '
oonmp || eennp YL 24 | T0

+LC

(jD PO )= x2-x2-x

x (X % x—)
9%_ X (x-23)(x+2)

2CV05: Q| 3| -2
e R !\ l

Cr0SS | Cr0SS| orossS

0A4ad i
¥L(U \/

N-int (0\0)




@ () = -x3+x2+12¢

- -12 -X (XQ"._ X- lQ)
. wXix-H4

% (x-4)03)
zevos ol 4| -3
mulfigiciy: 1] 1|
exvssS 1exoss | eross

odd
-LC . y Nt (0‘0)

(@) PO = (> k%% -1)

%2 (X))
(XD -1+
(X2 (x-1)

zeos: -l |
ewibphidty 2| |
fovonl ovusS
odd 7
¥LC g NNt (0)-1)

() PLO= xt-2% -1t

*t v )

A (K- I
>z< g%x’—%}-«u(xz—q)
(X2-WD3))

(X=2) Xt 2)(x%+\)

Lnon-yead\

2&0S* ~ i iy
muibenaty' ] |
oroSS| 0SS

j"f’é‘ N7 Nt (D4)




19 P0)= x(x-2) (x12)>
. Already facivred (©)
zons: 0] 3| -2

maMRCIN z‘ )
CdSS |[Tmoh| wigd\e

dearee: (p even N A
% ¥L.C
\\"in\' ‘.0\0)

002 - (V2O (6-3)
AWeadN Sacired

zons 1| 3 3

o vouIRpialy 3\ 4;‘ |
Wigq\e| foun| cxvsS

degee’ 8 ’e\)’lgn oy

it (0, )

-1(0-1)®(0*3)"0-2)
A CNEYER)




